Multiplicar Tres Polinomios (J)

DO

o

Ot

Simplifique cada expresion.

- (=6¢" — 6¢)(—9¢” + 6¢)(5¢"* — 3¢”)

(—=6n* — 3n?)(3n* + 8n*)(—9n* — 8n)

=9y + 1)(=7y* + 997 (—2¢" — 3y°)

(—2h — 8)(—8h* + h)(—4h + 1)

(=Tw’® — Twh)(9w® — 8w?)(—4w’ — Sw?)
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Multiplicar Tres Polinomios (J) Respuestas

)

w

ot

Simplifique cada expresion.

- (=6¢" — 6¢)(—9¢” + 6¢)(5¢* — 3¢%)

= 270¢° — 72¢" — 234¢° + 108¢°

(=60 — 3n?)(3n* + 8n*)(—9n? — 8n)
= 162n° + 657n® + 672n" + 192n°

(=9 + D(=Ty* + 997) (—2y° — 3y?)
= —126y" — 13y° + 246y° — 27y*

- (—2h — 8)(—8h* + h)(—4h + 1)
= —64h* — 23203 + 94h% — 8h

(=Tw’ — Tw")(9w® — 8w?)(—4w® — Sw?)
— 252w + 532w — 168w — 448w
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